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Example: A Complex 

Processing Circuit using the 

Inverting Configuration

Note that we can combine inverting amplifiers to form a more complex processing system.  

For example, say we wish to take three input signals 
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, and process them such that the open-circuit output voltage is:
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Assuming that we use ideal (or near ideal) op-amps, with an output resistance equal to zero (or at least very small), we can realize the above signal processor with the following circuit:

This circuit performs this operation!
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